
A

THE IMAGES ARE FOR REFERENCE ONLY.

DETAIL A
SCALE 1 : 8

WOOD DOWEL 10 X 50

B

DETAIL B
SCALE 1 : 8

METAL BRACKET

STEP 1: POSITIONING THE TABLE COMPONENTS
WITH THE HELP OF ANOTHER PERSON, CAREFULLY TURN THE TABLE UPSIDE 
DOWN AND PLACE THE TABLETOP ON A FLAT, PROTECTED SURFACE.
INSERT THE DOWELS INTO THE PRE-DRILLED HOLES ON THE TABLETOP.
ALIGN THE LEG HOLES WITH THE DOWELS AS SHOWN IN DETAIL A.
ONCE THE LEGS ARE IN POSITION, ATTACH THE METAL BRACKETS AS 
ILLUSTRATED IN DETAIL B.

(A)

(B)

ALIGN THE HOLES ON THE LEGS WITH THE DOWELS AND TABLETOP.
INSERT THE 1/4" X 3/4" CONNECTOR BOLT INTO THE LEG HOLES AS SHOWN IN DETAIL C.

USE THE PROVIDED 5/32" HEX KEY TO TIGHTEN THE SCREWS ONLY INTO THE LEGS AT THIS STAGE.

STEP 2: INSERT SCREWS INTO THE LEGS

DESCRIPTION #
WOOD DOWEL 10 X 50 12

CONNECTOR BOLT 1/4" X 3/4" 32

HEX KEY 5/32" 1

I-TBL-E027

ASSEMBLY INSTRUCTIONS



C

D

DETAIL C
SCALE 1 : 5

"NOTE: FIRST TIGHTEN THE SCREWS INTO THE 
LEGS AND THEN TIGHTEN THE SCREWS INTO THE TOP

UNION SCREW 1/4" X 3/4"

DETAIL D
SCALE 1 : 5

CONNECTOR BOLT 1/4" X 3/4"

(D)

AFTER SECURING THE LEGS, INSERT THE 1/4" X 3/4" CONNECTOR BOLT 
INTO THE HOLES ON THE TABLETOP SIDE, AS SHOWN IN DETAIL D.
TIGHTEN THE SCREWS USING THE HEX KEY TO FIRMLY SECURE
THE LEGS TO THE TABLETOP.

ENSURE THAT ALL SCREWS — BOTH IN THE LEGS AND TABLETOP
 — ARE PROPERLY TIGHTENED. CHECK THE TABLE FOR STABILITY
BEFORE TURNING IT UPRIGHT AND PLACING IT IN ITS FINAL POSITION.

(C)

STEP 3: INSERT SCREWS INTO THE TABLETOP

STEP 4: FINAL CHECK

DESCRIPTION #

WOOD DOWEL 10 X 50 12

CONNECTOR BOLT 1/4" X 3/4" 32

HEX KEY 5/32" 1

I-TBL-E027

ASSEMBLY INSTRUCTIONS


	Hoja1
	Drawing View2
	Vista de detalle A (1 : 8)
	Drawing View4
	Vista de detalle B (1 : 8)

	Sheet1
	Drawing View6
	Drawing View8
	Vista de detalle C (1 : 5)
	Vista de detalle D (1 : 5)


